
Answer Key – Math 
A Slice of Watermelon Really Satisfies! 

Grades 5-6 
 

Read the recipe below and answer the questions. 
1. 1 1/2 cups 

2. 1 

3. ¼ cup 

Circle the greater fraction in each pair to complete the sentence 
below. 
1. ½ H  2. 5/23 O 3. 9/11 N  4. 15/29 E  5. 15/32 Y 

6. 11/42 B 7. 7/12 E 8. 10/15 E  9. 7/31 S 

Watermelon blossoms need  H  O  N  E  Y  B  E  E  S  in order to fruit. 

 

J. Slice and Pinky are shopping at a sale. Solve the problems. 
1. $56.25 

2. $8.75 

3. Yes 

4. $22.50 

5. $3 

	


